13.  Graph:  
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Note that the amplitude is 2, so the graph you draw will look like a cosine graph stretched vertically to twice its height.

Step 1. You begin by finding the end points of one cycle by solving 
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Step 2.  Next find the period:  Period = 
[image: image6.wmf]2
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Step 3.  Next find the space between checkmarks:  It is one quarter of the period. 
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When you label checkmarks, make the first one 
[image: image8.wmf]6
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 and then continue in multiples of 
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.

Now sketch one period of the function beginning and ending at the points found in Step 1.  Note that the spacing between consecutive peaks and x-intercepts is 
[image: image10.wmf]6

p

.  Likewise between troughs and x-intercepts. Continue the graph following the same pattern you used to sketch the first period.      
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14.  Graph:  
[image: image12.wmf]3sin(2)
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Note that the amplitude is 3 and the coefficient is negative, so the graph you draw will look like a sine graph stretched vertically to three times its height and reflected in the x-axis.

Step 1. You begin by finding the end points of one cycle by solving 
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Step 2. Period = 
[image: image17.wmf]2
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Step 3:  The distance between check marks is 
[image: image18.wmf]1
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When you label checkmarks, make the first one 
[image: image19.wmf]1
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 and then continue in multiples of 
[image: image20.wmf]1
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.

Now sketch one period of the function beginning and ending at the points found in Step 1.  Note that the spacing between consecutive peaks and x-intercepts is 
[image: image21.wmf]1

4

.  Likewise between troughs and x-intercepts.  Continue the graph following the same pattern you used to sketch the first period.      
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